|~

4 )

BHEVEFRE

YAstEAGET(a)+(b)
532h5a 540{8H
(a)FEBSTESE 52754 537/8M

(b)5IENESFEEE 5ha 3EM

-

RS ERINA
93{8HM

(BREMRAI (A) 42 |
6348

X1 FAEOFLAER

%2 FR30FEREESTT : 9,425(BM =

X3 FEEFIUNZZERA(A)-(B) 67{8H

N
HSEEEA | o)
wt | vesosEkmEest
:: (RILEIZRRAE)
WEEERS (a) 359,279 ;
FAE33MEM (x1) R
HRUNAE: (b) 130f&M I:>
KL () 1748
a&t (a)+(b)-(c) 9,425 (%2) )| thhE
\ / A Ay =—gy-:-]
- N FH =
(B%) TR2FEREEA If>
FIS (RILRHERRE)
A
WESERS (a) &59,215@M
BR6MEM (k1) | 1S
HRURAE (b) 132{8F HAAS
S0 18/8F :>
€§1' (a)+(b)-(c) 9,394{5M j
* HERARRZL TSI, AETERF IS I UESTBIBEF—ELR.

LR 30FE(CHIISBEIRICIETEFORN

-

~

SEEM9

( pEEA-pH-= h
$EEEAE () +(D)+(C)
36718 (RFIE45(EM)

(a)ASR 320h8 222 (WFE 27{18M)

(D)7 %8 276 HE 7431 (RFE 9EM)

k(c)?l])iﬁ 2968 70 (RFME 9EH) /

4 . S )
TREREHET> 5 -
BIREEREE
3365489 7/8M (FWHIS0.8EM)

BHEEEFARE
15054 190/8M (WRS18EM)

/7 AREEEA/SEBERLES
/BBty —
FEFEEESET(a)+(b)+(c)+(d)
2.6/2M(mFI20.3(8M)

()BEEXREXIRSEE 1.08M

(D) XKFUEKEADKIE 0.118M

()77 5—-0FEFH 1.4E8M

\(d)ﬁﬁ%}ﬁbwﬁiﬁfﬂ 0.118M

( EREBRUH(B) ¢ )
\ 566(&H

~

/

SINE(CIRATTRENEHEREE (30/8M)  RUBFESBINFHACESS AT DIDTHROBUIERE
TR29OFEREESET 1 9,3948A + FEEHUNELR : 678 (%3)

+ FRHI0FEMEEZEIRL | A36{8M



